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N.B. (1) Question no. 1 is compulsory.
(2) Attempt any three from remaining five questions.

(3) Assumesuitable data, if necessary.

1. (a)' What is cloud? Explain its features, service and deployment models.

t)

What is virtualization? What are benetits and mechanisms used for

virtualization?

2. (a) Whatare the features of Amazon SimpleDB?
(b) Explain Big Table as Google's NoSQL system in details
3, (a) Explain conceptual Architecture of Open Stack and its modes of operation.
(b) What is CSB? Explain its role with example.
4. (1) Whatare public cloud adoption phases for SMBs? What are cloud vendor
roles and responsibilities towards SMBs?
(b) Explain AAA modelin detail aleng with its industry implementation?
5. (a) Whatare therisks associated with cloud computing?
(b) What are the fundamentzl requirements for cloud application architecture?
6. Write a note on

i.

.-35-(.)-)1\.)

Factors for successful cloud deployment

. Cloud Service Gateway
. Google App Engine
SaaS maturity model
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(1) Question 1 is compulsory

(2) Outofremaining attempt any three,

(3) Assume suitable data wherever required.
(4) Figuresto right indicates full marks.

Solve any Four ;

a)
b}
c)
d)
e)

a)
b)
a)
b)

a)
b)

)
)

Define project management.

Explain the need of project management.

Explain Business Case.

Explain formal and informal organisation.

What is préject? What are the attributes.of a project?

Explain four P's with respect to Project Managemant,

i} Product i1} People iii) Process 1iv) Proiect

Explain various project scheduling techniques. Explain the difference
between CPM and PERT.

Describe the five phases of IT projeci methodology.
Describe the five scope managem®2ii processes.

Explain project leadership anid ethics.
List and explain the steps imvolved in terminating a project,

What is project risk muanagement? What are the RM processes?
Distinguish resource loading from resource levelling. Why is leveiling
of resources preferred to large fluctuations?

Explain with a brief answer : (any four)

a)
b)

c)
4)
c)

What i3 a milestone? Why are they useful?
Whiat is projectitis? How can an organization minimize its likelihood of

_its oecurrence?
‘Explain the difference between-AON and PERT.

Why is effective and efficient communication vital to a project?
How can a system be a technical success but an organizational failure?
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Note the following instructions. ' a \;\;\
<
{a) Question No.1 is compulsory
(b) Total 4 questions need to be solved ?3"
, {c) Attempt any three questions {rom remaining five questions. o~
(d) Assume suitable data wherever necessary, justify the same ;;.—7
s
La  Consider the image segment shown below bo\ ’ (4}
2 N
2-2 0 2z o
i 2 1 1 O
f\\‘
Py1 o 1 2z .
Compute the length of the shortest 4,8and m path be!-ﬁg'een p and g for
V={1, 2}. " e
A | O _‘
Lb  Explain separability property of 2D-DFT. o ' L[4
\Cj‘
I.c How many unique Huffman codes are /g&}s\sible for a 3 symbol source? 4]
Construct these codes. ' A
& |
~1.d  Explain the process of high boost ﬁlt\e{ﬁng mathematically. [d]‘.
- l.e  Explain morphological thinning{c-:f)érntion with example. [4]
<
NG . _
2.a Explain following morphokom’i\g‘:};’)! operations with suitable exampies [10]
i. Dilation ii. Erosiop~" iii. Opening  iv. Closing
'
2.b- Perform LZW coding@nd decoding for the following sequence. {10}
ababababa 3%
3.a Gray level histegram of an image is given below [10}

-

o

Grafilevel(r) | 0 | 1 |2 |34 5 176 | 7
/}}\{g}.’iof pixels (n) |} 220 | 140 | 30 60 1 70 | 170 | 130 | 160
L :
Coﬂﬁute gray level histogram of the output image obtained by enhancing the
fj;fiput by histogram equalization'technique.

S .
A , . . -
3-?(,_,;'W|th neat block diagram, expiain fundamental steps in digital Image [10]
e  processing. :

¥
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‘4.2 Describe in short the following point processing image enhancement [19«1,;\
techniques. _ ) \?}
i. Log Transformation ii. Power-Law transformation \3«‘“
iii. Contrast Stretching iv. Gray Level slicing .
4.b  Explain the following Boundary Descriptors n(:,\f’\( {10}
i. Shape Numbers ii. Fourier Descriptors (5\'\ o
! : o
S5.a Give the steps invelved in Homomorphic Filtering <,~,\ 3]
e
5b  What are the basic steps for filtering in frequency domain enh n[}ement" 5]
’\ ¥
S.c Describe basic principles of detecting following in the imz;g'a‘;5~ [10]
i. Point’s 1i. Lines iii. Edges '
Give3x3 masLs fm each of them to explain their opc} .\tion
"\
G.a Draw and explain the block diagram of JPEG en( 7?‘ er and decoder.’ [10]
; \;\
6b  Obtain 2D DET of following 3 x 3 image ¢ (6]
I , A '
. e
.f(xej))= -1 ! I ) ~
I o
o
. '
6.c I?.xplam Bit- ‘plain coding techmq‘t e, (4
4
</
£
&
e}
-
&
2
\_2"{/‘
S
) .‘f‘\({_’_’f‘
P
o
&
: \}O
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N.B.: (1) Question No. 1 is compulsory. S
(2) Solve any four questions from remaining six questions. "
1. (a) Explain the game design aspects. : ’“5“133 ‘ 5
(b) What is 2D display technology. Ratd 5
(¢) Explain three tier architecture of game development. o 5
(d) Explain Peek Message. ' ._»422';\”) 5
L
2. (a) Explain the steps in game development process. o - 18
(b) What is software factory ? Give details about the various. ‘groups in software 10
factory. . oo '

3. (a) Explain any two Architectural styles with examp' N 16
(b) Explain Game build process. $ ’ | 10
4. (a). What do you mean by design pattern 7 EX},l‘aln any five with.an example. 19
(b) What is cleanup in game explain in dataﬂ. , ' 10
5. (a) Whatis Research goal 7 Write the va fous research goals for a football game. 10
(b) Explain user Interface Controis . ' co 10
6. (a) Explain the various ways tcg;{i{;ééliﬁture mouse events. ‘ ' 10
(b) Explain 3D graphics pip@__li‘nfé. 10

7. Write short note on (any f(::‘ur)
(a) Smart pointers . 5
() Game Desagn ,Q)ocument 5
(c) Types of err"efs and bugs 5
(d) Hardware#A \bstraction -3
5

(e} Scene g,pde

GP-Comn. 11914-15.
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3 Hours) [ Total Marks :

N.B.: (1) Questions No. 1 is compulsory

L.

]

Lad

foaY

(2) Solve any three from remaining questions,
(3) Figures to the right indicate full marks.
(4) Assume suitable data if necessary ‘

(a) Consider a single high-power transimitter that can support 100 voice channels covering
a given service area, Let the service area be divided into seven smaller area/cells. As
shown in fipure, each supported by lower power fransmitters. The available spectrum
of 100 voice channels is divided into 4 groups of 25 Channels zach, The cells (1, 7)

-(2,4)(3, 5) and 6 are assigned distinct channe! groups. Show that the total number of
channels that can be supported is enhanced to 175 to cover the same service ared.

(b) Explainin detail TDMA, CDMA and FDMA.

(7) Explain in detail the CDMA architeeture.
(b) Explain in detail the IEEE 802-11 MAC Layer.

(a} Explainin detail LRWPAN
(b) Compare CDMA 2000 & W-CDMA,

(2) Explain in detail Mebile [P,
(b) Explain possible sitacks on wireless LAN and explain WEF in detail.

(a)} Explain in detail Bluetooth architecture,
{b) Explainin detail GSM architecture

Write short note on any four,
(z) FHSSand DSS5
vy OFDMA
(¢) MMDS
(d)  WLAN Architecture
(e) WIMAX
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N.B.: (1) Questlon No. 1 compulsory <

(2) Solve any three questions out of remaimng Five. . %\.

"(3) Assume suitable data. : : Vgl

| &

1. Youwant to be a part of Digital Indiz move announced by Inch an Govemmentg%u 29
want to set up a business which will provide a required training to the gmﬁj%hment
staff as well as to the citizens of India along with the responsibility qﬁ};rowdmg -
the required infrastructure to set up the iraining centers nationwide. Yéur comparny
will have 49% share and the rest 51% will remain with the Indrfn\(}ovemment
Develop a business plan based on the following guidelines. ;c:“'

i) Idenufy the business mode! with respect to the fg owing points: Value
proposition, Revenue model, Market opp Sriunity, Competitive
environment, Compeutwe advantage, Marl%’bstrategy, Orgamzatxonal

_ development, Management tearn v
i) Develop the strategic plan: el

a. Strategchnalyms includes: Extem@\;nwromnent Internal resources
b. Strategic Objectives - includes Jé?smn Mission, and objectives.
* ¢. Strategic definition \2\\?
d. Marketing plan el
- e. SCMand CRMplan ¢~
iii) Implementation should, frﬂciude few screens (hand drawn) of websites
- demonstrating ,:\?’ : '
a. Business model’ Revenue model(s) used
. CRM, SCM #cfivities :
. Marketmg’{a_ttlwtles
. Strategi objectlves like mission, vision and objectwes
Secuxi‘? concern, Payment mode (in case of B-C and C-C business p—
m@,del)
T \\}\({fbm‘cormg and Control, maintenance
g 5 /One example of use-case scenario.
Lh Site structure diagram (blueprint) showing layout and rclatlonship
Y

‘& between pages

'f'D‘C)..Ocr'

{: Qw) Organizational structure and Hardware and Software requirement
%_ )  Enlistand explain types of portals with an example of each types? 10
+X" b) Write a short note E-CRM also explain its benefits. o 10
f’.’\\ . , . ‘
O | _ [ TURN OVER
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3. a) Explainthe concept of Porter's value chain. | LN
b) Explain buy side and sell side E-commerce with the help of example. I

4. a) Compare E-commerce and E-business? ‘ (\:\r B

b) Difference between client side programming and server side pro gramn{}iﬂ%’? 5

¢) What are the characteristics of payment system? _ oY 5

© @) Explain SOSTAC framework . e 5

i . . . . r(-:)\
NV
5." a) Describe E-business revenue models and its types. \«i‘f\ 10
b) How does E-cash transfer take place in E-business. {‘\\ 10
: . W A ’
: . i ' \\C)‘.‘.s- .
. 6. a) ExplainSWOT analysis with example. & 10
b) - Describe different elements E-business procuremgnt system. ' 10
| Ko -
o
5
@
Q-
"ﬁ\
. }\-
h 1 tt:}..
x‘
&
Y,
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(Revised Course)
(3 Hours) { Total Marks : 80

N.B. : (1) Question No. 1 is compulsory.

J

(2) Attempt any Three of the remaining Five questions.

(2) What is AI7 List dawn all components of Al.

{b) List dawn all properties of Agent Task Environment explain in short any one. <
(dy What do you mean by heuristic funciion? Why it is use? .

(e} What is Expert system shell explain in short.

(f)  Whart is Reasoning? Write its role in Al in Short.

(hy Give the Comparative analysis of Uninformed Search techaigues. |

[ 2R VR PR WO R W R VA

(a) Consider the following graph starting from P execute DFS, the goal node iy 10
V. Shaow the order in which the nodes are expanded. Assume that the
alphabetically smaller node is expanded first to braulc ties and also write the
properties of DFS.

- i
I v T
Gy ) |
" e
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{b) Listdown all the types of agent architecture, Explain utility based and learmning  1¢
agent.

(a) Suppase you are designing a machine to pass the Turing test. What are the 5
capabilities such machine must have? Explain?
(b) Represent foliowing'sentences in {irst order logic. 10
(i) Every gardener like the sun.
(i1)  Ail purple mushrooms are poisonous.
(i11)  Hvery student who takes French passes it.
(iv)  No person buys an expensive policy.
(¢) Wriie the Planning algorithm for Spare Tyre Problem. 5

[TURN OVER
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4, (a)
(b)
(c)

A

(4)

(b)

(c)

Q.P. Code: 59560
2

What is state space search? Formulate the state space search problems for 8-
puzzie problem. '

Draw and explain expert system architecturs. Also give the differentiation
between forward chaining and backward chaining.

Figured is an example of aroute finding problem. g ig the starting staté, (5 is
the goal state. Run the greedy search algorithm for the graph given in Figure
i and write order of the node in whichitis explored. The straight lins distance
heuristic estimates for the nodes are shown in Figure 2.

s
s
l 3./ T ~ AL
ERE. — —
] E] 11.4 .
LR i) 50
\ S / kP 9.8 /-'”0
o~ o . 5.9 S
1 o] Bt [
h f_ﬁ_ﬂ_.w#_____ww,__J
) Figure-2 |

Given a full 5 gallon jug and an empty 2 gallon\jug, the goal is tC fiil the 2
gallon jug with exactly ong gallon of water do the state spacc formulation
and also discuss which strategy is appropriate £or this problem.

Write down the agent task environment and 115 characteristics for the
Crossword puzzle with justificelion.

Apply Min-Max algorithm and Min Max algorithm along with Alpha Beta
pruning on given game tree then find which the next move is. (Note:-A: Max
node and ¥V: Min node)

T

5. Write Short note on any Four.

\D-Con. 9985-15.

(&) Conditional Probability and Its role in AL
(5) Ontology.

(c) Bayesian Network.

(d) WUMPUS World envivonment.

(e) Decision Tree.
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